U.S. DEPARTMENT OF EDUCATION

Get Data for One School

Step 3. View Data

Valdosta State University OPE ID: 00159900

GENERAL INFORMATION

Location: 1500 N Patterson St Valdosta, GA 31698

Phone: (229) 333-5800

Number of Full-time Undergraduates: 7,787

Men: 3,161 Women: 4,626

ATHLETIC DEPARTMENT INFORMATION

Director: Herb Reinhard

Address:

1500 N. Patterson St. Athletic Department Valdosta, GA 31698-0500

Reporting Year: 07/01/2014 - 06/30/2015

Reporting Official: Barrie Fitzgerald

Title: Interim Director of Institutional Research

Phone: (229) 245-6518

Sanction Body: NCAA Division II (with football)

PARTICIPANTS

COACHING STAFF AND SALARIES

REVENUES AND EXPENSES

SUPPLEMENTAL INFO

Athletics Participation

Varsity Teams	Number of participants as of the day of the first scheduled contest Men's Teams Women's Teams				
Baseball	40				
Basketball	15	14			
Football	119				
Golf	11				
Soccer		29			
Softball		21			
Tennis	8	6			
Track and Field, X-Country	13	13			
Volleyball		14			
Total Participants Men's and Women's Teams	206	97			
Unduplicated Count of Participants (Number of individuals who participated on at least one varsity team.)	206	97			

BACK

START OVER

BACK

START OVER

OPE Home Information for Students Planning for College Policy Student Aid Professionals Equity in Athletics Disclosure Act Home OPE Program Data

Get Data for One School

Step 3. View Data

Valdosta State University OPE ID: 00159900

GENERAL INFORMATION

Location: 1500 N Patterson St Valdosta, GA 31698

Phone: (229) 333-5800

Number of Full-time Undergraduates: 7,787

Men: 3,161 Women: 4,626

ATHLETIC DEPARTMENT INFORMATION

Director: Herb Reinhard

Address:

1500 N. Patterson St. Athletic Department Valdosta, GA 31698-0500

Reporting Year: 07/01/2014 - 06/30/2015 Reporting Official: Barrie Fitzgerald

Title: Interim Director of Institutional Research

Phone: (229) 245-6518

Sanction Body: NCAA Division II (with football)

PARTICIPANTS

COACHING STAFF AND SALARIES

REVENUES AND EXPENSES

SUPPLEMENTAL INFO

Head Coaches - Men's Teams

			Male He	ad Coaches			Female Hea	ad Coaches	
Varsity Men's Teams	Assigned to Team on a Full- Time Rasis	Assigned to Team on a Part- Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Assigned to Team on a Full- Time Basis	Assigned to Team on a Part- Time	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Total Head Coaches

8/30/	/2016				Equity in Athletic	cs				
	Baseball	1		1						1
	Basketball	1		1						1
	Football	1		1						1
	Golf	1		1						1
	Tennis		1	1						1
	Track and Field, X- Country		1	0	1					1
	Coaching Position	4	2	5	1	0	0	0	0	6

Head Coaches - Women's Teams

Totals

			Male Hea	ad Coaches			Female Hea	ad Coaches	
Varsity Women's Teams	Assigned to Team on a Full- Time Basis	Assigned to Team on a Part- Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Assigned to Team on a Full- Time Basis	Assigned to Team on a Part- Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Total Head Coaches
Basketball	1		1						1
Soccer					1		1		1
Softball	1		1						1
Tennis	0	1	1						1
Track and Field, X- Country	0	1	0	1					1
Volleyball	1		1						1
Coaching Position Totals	3	2	4	1	1	0	1	0	6

Head Coaches' Salaries

	Men's Teams	Women's Teams
Average Annual Institutional Salary per Head Coach	\$67,035	\$53,598
Number of Head Coaches Included in Average	6	6
Average Annual Institutional Salary per FTE	\$89,380	\$71,464

4.50

4.50

Assistant Coaches - Men's Teams

Male Assistant Coache						Female Assistant Coache			
Varsity Men's Teams	Assigned to Team on a Full- Time Basis	Assigned to Team on a Part- Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Assigned to Team on a Full- Time Basis	Assigned to Team on a Part- Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Total Assistant Coaches
Baseball		1	1						1
Basketball		1	1						1
Football	4	0	4	0					4
Golf									0
Tennis									0
Track and Field,X- Country									0
Coaching Position Totals	4	2	6	0	0	0	0	0	6

Assistant Coaches - Women's Teams

			/lale Assista	nt Coaches		Fen	nale Assista	nt Coaches	
Varsity Women's Teams	Assigned to Team on a Full- Time Basis	Assigned to Team on a Part- Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Assigned to Team on a Full- Time Basis	Assigned to Team on a Part- Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Total Assistant Coaches
Basketball						1	1	0	1
Soccer									0
Softball									0
Tennis									0
Track and Field, X- Country									0
Volleyball									0

Coaching
Position 0 0 0 0 1 1 0 Totals

Assistant Coaches' Salaries

	Men's Teams	Women's Teams
Average Annual Institutional Salary per Assistant Coach	\$38,983	\$29,663
Number of Assistant Coaches Included in Average	6	1
Average Annual Institutional Salary per FTE	\$46,780	\$59,326
Number of FTEs Included in Average	5.00	0.50

BACK START OVER

BACK START OVER

OPE Home Information for Students Planning for College Policy Student Aid Professionals Equity in Athletics Disclosure Act Home OPE Program Data

8/30/2016

Get Data for One School

Step 3. View Data

Valdosta State University OPE ID: 00159900

GENERAL INFORMATION

Location: 1500 N Patterson St Valdosta, GA 31698

Phone: (229) 333-5800

Number of Full-time Undergraduates: 7,787

Men: 3,161 Women: 4,626

ATHLETIC DEPARTMENT INFORMATION

Director: Herb Reinhard

Address:

1500 N. Patterson St. Athletic Department Valdosta, GA 31698-0500

Reporting Year: 07/01/2014 - 06/30/2015

Reporting Official: Barrie Fitzgerald

Title: Interim Director of Institutional Research

Phone: (229) 245-6518

Sanction Body: NCAA Division II (with football)

PARTICIPANTS

COACHING STAFF AND SALARIES

REVENUES AND EXPENSES

SUPPLEMENTAL INFO

Athletically Related Student Aid

8/30/2016 Equity in Athletics

	1. 3		
Total	\$1,225,201	\$966,153	\$2,191,354
Ratio (percent)	56	44	100%

Recruiting Expenses

	Men's Teams	Women's Teams	Total
Total	\$18,153	\$23,339	\$41,492

Operating (Game-Day) Expenses by Team

	Men's Teams Operating		en's Teams	Women's Teams Operating			Total
Varsity Teams	Participants	Expenses per Participant	By Team	Participants	Expenses per Participant	By Team	Operating Expenses
Basketball	15	\$3,318	\$49,764	14	\$3,164	\$44,298	\$94,062
Football	119	\$2,110	\$251,124				\$251,124
Baseball	40	\$1,036	\$41,452				\$41,452
Golf	11	\$5,803	\$63,836				\$63,836
Soccer				29	\$849	\$24,630	\$24,630
Softball				21	\$3,253	\$68,305	\$68,305
Tennis	8	\$3,635	\$29,081	6	\$3,237	\$19,420	\$48,501
Track and Field,X- Country	13	\$1,231	\$16,006	13	\$1,088	\$14,142	\$30,148
Volleyball				14	\$1,412	\$19,762	\$19,762
Total Operating Expenses Men's and Women's Teams	206		\$451,263	97		\$190,557	\$641,820

Total Expenses by Team

Varsity Teams	Men's Teams	Women's Teams	Total
Basketball	\$507,247	\$460,486	\$967,733
Football	\$1,409,773		\$1,409,773
Total Expenses of all Sports, Except Football and Basketball, Combined	\$855,914	\$1,364,697	\$2,220,611
Total Expenses Men's and Women's Teams	\$2,772,934	\$1,825,183	\$4,598,117
Not Allocated by Gender/Sport			\$2,525,656
Grand Total Expenses			\$7,123,773

Total Revenues by Team

Varsity Teams	Men's Teams	Women's Teams	Total
Basketball	\$263,103	\$289,101	\$552,204
Football	\$2,194,671		\$2,194,671
Total Revenues of all Sports, Except Football and Basketball, Combined	\$974,324	\$1,536,082	\$2,510,406
Total Revenues Men's and Women's Teams	\$3,432,098	\$1,825,183	\$5,257,281
Not Allocated by Gender/Sport			\$1,900,284
Grand Total for all Teams (includes by team and not allocated by gender/sport)			\$7,157,565

Revenues & Expenses Summary

Rev	venues and Expenses Summary	Men's Teams	Women's Teams	Total
1	Total of Head Coaches' Salaries	\$402,210	\$321,588	\$723,798
2	Total of Assistant Coaches' Salaries	\$233,898	\$29,663	\$263,561

8/30/2016		Equity in Athletics		
3	Total Salaries (Lines 1+2)	\$636,108	\$351,251	\$987,359
4	Athletically Related Student Aid	\$1,225,201	\$966,153	\$2,191,354
5	Recruiting Expenses	\$18,153	\$23,339	\$41,492
6	Operating (Game-Day) Expenses	\$451,263	\$190,557	\$296,634
7	Summary of Subset Expenses (Lines 3+4+5+6)	\$2,029,837	\$1,487,002	\$3,516,839
8	Total Expenses for Teams	\$2,772,934	\$1,825,183	\$4,598,117
9	Total Expenses for Teams Minus Subset Expenses (Line 8 – Line 7)	\$743,097	\$338,181	\$1,081,278
10	Not Allocated Expenses			\$2,525,656
11	Grand Total Expenses (Lines 8+10)			\$7,123,773
12	Total Revenues for Teams	\$3,432,098	\$1,825,183	\$5,257,281
13	Not Allocated Revenues			\$1,900,284
14	Grand Total Revenues (Lines 12+13)			\$7,157,565
15	Total Revenues for Teams minus Total Expenses for Teams (Line 12-Line 8)	\$659,164	\$0	\$659,164
16	Grand Total Revenues Minus Grand Total Expenses (Line 14- Line 11)			\$33,792



OPE Home
Information for Students
Planning for College
Policy
Student Aid Professionals
Equity in Athletics Disclosure Act Home
OPE Program Data

U.S. DEPARTMENT OF EDUCATION

Get Data for One School

Step 3. View Data

Valdosta State University OPE ID: 00159900

GENERAL INFORMATION

Location: 1500 N Patterson St Valdosta, GA 31698

Phone: (229) 333-5800

Number of Full-time Undergraduates: 7,787

Men: 3,161 Women: 4,626

ATHLETIC DEPARTMENT INFORMATION

Director: Herb Reinhard

Address:

1500 N. Patterson St. Athletic Department Valdosta, GA 31698-0500

Reporting Year: 07/01/2014 - 06/30/2015

Reporting Official: Barrie Fitzgerald

Title: Interim Director of Institutional Research

Phone: (229) 245-6518

Sanction Body: NCAA Division II (with football)

PARTICIPANTS

COACHING STAFF AND SALARIES

REVENUES AND EXPENSES

SUPPLEMENTAL INFO

Supplemental Information

No Supplemental Information was provided.



OPE Home
Information for Students
Planning for College
Policy
Student Aid Professionals
Equity in Athletics Disclosure Act Home
OPE Program Data